92 MOLEX4

g oy = N
% g - ‘m NN
B —1a  1bl-22 [RecoUT]
Wl 3120 2b[ 42 vos o1
3 3a 3b 47 VFSG GREEN R4S L -
Gwes 3> 1a0  4b| 27 o) X Er
[oNo———F 50 5b oND ¥
- Slea  6bf Y e o
+2V 7a 7b 'VFSF| 1K
—m 7 43 2V RED lD2 c1 1
SH 8 Sg SB 42 |SHB| ! +|]= 1
e 5 10a 10b 4 =) 3 e 3
SHIREG 11 11a 11b 39 SHIREGB . n o
[oeK] 121120 12br5g GCKB »—Icg+
[A00) 131130 13b%5 D1 7 vy
o — R — b
[A0s | 16 |18a  16bI3; 1AD7|
w17 1100 18033 - o1 .
= 18 1190 19bf32 vrss %
OuTP_U 20 20a 20b 30 OUTN_U
OUTP_D 21 21a 21b 29 OUTN_D
MBIAS 29 22a 22b 28 IVTHR|
[cALE] 551230 23b5> lcau] 3
[om 52240 24br5¢ jong)
SHIN_D 25 25a 25b REGIN
2
ERNIS@EDGEF
2N3904

2N3904

G JOo | # 199yg
qIZD DA

d
°
2N3906 g
00 3
23906 47UF/6.3V
3t
PIN1
1
2 P3
47UF/6.3V PIN1
L
7
2 P4
L
- o - o
w [
(o) N
hY 3
b4 =z
S S
N N




[Te] -

o
47@mV/100uA 500 uA
R1®

+5V

JumPer P11 P12 H

-
PINZ

+5V

=

R52

P23 P22

MISSING CONNECTION
IN PCB

sm=g -~
200 mV
I

LEMO-00D
J4

VaTa2ib
Sheet #2 of 5




RNS

kik

kK

BUS TER 120
DS26C32A P
—|N|M| < ©| o -
R18 ~N
1 A ETE +
JB:A A-
J8:B W B w A+ HV ouTA 100 IC4 Lo
J8:C 4 m 7518- T ouTB 74HCTO4N \sl.w/,\l\i mlﬁ&
ae _5 e 2P02-7 IC3:B / IN1 vee| 18
ar =S e D e L 3 Dot B aaman w
: - & = OUT4+ 3 oo
,,“Mm 8 " 3 WM ouTp 1! D3 4 _W_\@ 74HCTO4N \s.é\\\ +~<“Mmz OCAN_.I”__W\E
: o LI pog—y | RNIC IC3:C /7 RES—————0UT2~  ENs— -2V
e f¢ 5 6 ) -1v [resg] g 10UT2+ OUT3—|— 57— {shReg)
) 18 3 e - SN2 ouT3+ (18— fshreca)
5 74HCTO4N . GND IN3
™ o C1—{-sv 8
- zpDp-7 | FNTP H
Re BUS_TER NETE0R1S ~ 4o S/ e DS928C@31D
s oS
“[IRRR : T
2 +5V |
> 7
N T PPN S DS26C3A 4 I/|s< %
9 ! ZPD2-7
Js:l A- 3 17 RESET
- — L e oo ¢
JaK —H M o . 06
gL —12 N, D oo
i 13 o " e ZPD2-7
uw..x 14 B 7 T ourclS \.m 4 SHIFTREGIN
) 6 D7
9 ww > ounpt 4 _W_ == GLOBALCLK
+5V “A o EN N_ucnwlu RN2:C
7 T +5V —
® 2 v o
1 _Omn>N |/|s< ZPD2—7 RN2:D 1
e — TNt veete
4 D9 [pTB}——————{OUT1+ IN4—
4 2 7AHCTOAN on——————20UT1— oUT4+ 1%

b +2v “# EN ouT4-—- M2
510UT2—  ENsf— 5 -2v
2-10UT2+ OUT3-—,

A m  MAX901ACPP Z7IN2 - OUT3+ 5
I\I g -~<um GND IN3
+5V -2V 3 >|m - | “M c18
AN e e DH=— N s_; _ DS90Ce31D
oV 4
REGOUT_TTL % 4 ourT/ = 13 R27 m.
FOR_TIL : oum ocl>—12  mom 2 PR 5 Bz S LEMO—00D
19 AN +5V - D Q 2.2k S 3
B+ C+ TAW . ] 8
7 B — Lo = 9 g Ve IC8:A - 220 759 1 [NULLNULLS— HV o
. 8 ¥ &8 8 NO VETO 3 | Svras7aay | o 5 IN— M/F\_.m_. 5 * ™+
3 FOR_TTL VO_U Q= /— 3 IN+ 3 R28 4
8 © - ¥ IG5 IR -5V -— Z|-Vs NCp— e
T
@.ic17 omm— AD848J IC9
| | 1 [3) S
I \ VaTaZib
A‘ 4 Cc16 9.1 4
3 3 Sheet #3 of 5
I +




C31 C32
I 3
+ +
2.1 A
- IC10 I R i Ic13 g1 o
o [RT78—— 8 C25 - [K78}—— 8 -—|W
/| s ] ouT1 +V| R31 IVARREXE 1 OuT1 +V| R38
R57 7 — 78— R60 7 L
[P _d—{R78] 5 —IN1 ouT2 sek | T\_ [ou_uf——RI7E] 5 —IN1 0UT2 sek | T\
220 R58 220 RB1
T +IN1 —IN2 6 RT78}——{OUTN_D)| T +IN1 —IN2 6 o (178} oUTN_U
220 220
5K 5k
-V +IN2f=—2RN Y +IN2f<—2RN
4 4
2.1 ADB27N ADB27N
8_|w 0.1 .
\ 6 | o\
..w C35
3
1
SRR $[z 5[5
820 4o
-5V , M
1
- H «|_L NAAS H
c28 0+ 13| 3 m_muw o c38 0+x 13| 3 mmw 2
Tzz 232 « .ﬁc Tzz =R & .ﬁc
[ve] [ve]
h CWWM 2 o CWWM 2
o[Zzo+= O[Z0+=
v/ [~|oo 7,} ~|oo
© 5V [le] - +5V
2.1 . 0.1 .
N —I—NR
3 c27 3 C37
o ~ o ~
<+ <
N N
s S
i i
o Qo
& o R
| = | =S .
ANAL_D ANAL_U <QHQM6

Sheet #4 of 5




IE Ii'
3
3 3

fiav

3 2.2k
RN3:B E

G 10 G # 198yS

4D 9 2.2
a1 203
DS26C31A e I A L
. 15 apam 2
48:0 e SIOUTA — LYY
JBP — o AN QUTAx i w'® 88 T |3 .
BO TR pem 51500T <1 B ) 6 R E—
JBR — AL = goyTx 7
19 10 OmmQ VoD
Bs —oo——AMLSLOUTC . =R 1 s
BT 14 |OUTCx 9 T wel 7] x
Jg:u 22 13 ouTD < D 14 e 8
sBy —22 mzm 13 |57p. 15 v $¢ 33 ¥°7 |2
EN = >
2 + EN=* 4 é‘ Q %
o < 12 E E » )
©O=  |=|= ala
U3 = ” ® N (oo
@ &
4 2.2k
*—— 1
” RN3:C E
+ 5 2.2
2 RN3:D E
13 F@
B z
a [Z]
|: IE
HE 38
3 2.2k
RN4:B E
2.2
AAD4 “72IZKI E
DS26C31A RN4A
23 2 o (6,18 N|—
JB:W —=5——AMIL____Z gUTA
J8:X —gg*—“’ﬂl—gOUTA*<F A g
J8:Y ADSTTL BOUT
oz —25 wem 2 gours < BT TEF BE FT |5
AN —oo ML _SOUTC = ) 6 T . S E—
JB:AB —ZQ—M!E‘TOUTC* 9 VDD
BAC 50 o 130U <1 D o=g, :
Jgap —29amm 19 qyp, 15 —‘E vee[ 75 P
EN ’ 14 e ©
() ENx 4 ? g g g ? 8
zZ + 12 ! = >
a— t 5 2 Q
U4oo| = 7. |98 < o 3
2 ©O=  |=|= JErq P
[\ N | (N [8;1[e)]
4 2.2k
? »*III—.
+ RN4:C E
2 2.2k
5 2
RN4:D E
DS26C31A @IE; ':@
JBAE —31  meoum 2 | ipa % é
JBAF —%—MM%OUTA* == A REGOUT_TI
J8:AG TM—SBOUT < B For_ T
JB:AH T%BOUT* 7 =
JeAl —Sa— VL2 oUTC <]
sgA) —38 o loUTCH Crg vo-TH
130UTD —
18K 37 OUTD* 15
e 38 o E'm 4 P42
g % 12 :
- : ae
USo > /Z,'. @l 2 > J7
< LEMO—-0@D
&
<

QIZP1PA




